
深圳市盛弘电气股份有限公司 

 

  

 

 承  认  书 
 

      SPECIFICATION FOR APPROVAL 

                产 品 名 称: 用户手册 

                产 品 品 牌:  

                物 料 编 码: A81151080 

供 应商型号: 

版       本: A00      

  

 

 

  

 

 

 

 

 

     表格编号：SZSH-QR-PD-017-A1 



Mounting tools

Electric drill: for drilling 

holes in walls.

M6 screwdriver: Removal and 

installation of screws and wiring.

M4 screwdriver: Removal and 

installation of screws and wiring.

Removal tool: Remove and 

install the PV terminal.

Wire strippers: Strip wires.

Crimping pliers: Crimp PV, 

BAT cable wires.

Marker: Punch marking.

Tape measure: Measuring 

distances.

V1.00

Mounting tools

Electric drill: for drilling 

holes in walls.

M6 screwdriver: Removal and 

installation of screws and wiring.

M4 screwdriver: Removal and 

installation of screws and wiring.

Removal tool: Remove and 

install the PV terminal.

Wire strippers: Strip wires.

Crimping pliers: Crimp PV, 

BAT cable wires.

Marker: Punch marking.

Tape measure: Measuring 

distances.

V1.00



 

 

  

Connecting the Grid＆BACK-UP Terminal

Installation instructions

M6*20

Download the user 

manual for details:

www.sinexcel-

isuna.com/Download/

ESS Link Download

BACK-UP

Grid

安装 拆卸

Connecting the 

WIFI dongle

Remove

 

M8*80  4 PCS

Installation of wall mounts and inverters
 

M8*80  4 PCS

Installation of wall mounts and inverters

Connecting PV＆BAT

Positive

Negative

Android Google play iOSAndroid Google play iOS

Install

Electrical Connection Diagram

M6*16

T:5N*M

Cable diameter 6mm²

Terminal：OT X-6
(X is cable diameter)

Waterproof
rubber ring Nut

7-8mm

7-8mm

7-8mm

7-8mm
Limit buckle，do not clamp

Clamp

Clamp

After hearing a click sound, gently pull 
the cable to check whether it is fastened

PV BAT Back-up Load

Grid

T

A

B

C

N

PE

Connecting Protective Earth(PE)


	A81151080
	A81151080-用户手册-包材辅料-标准-Isuna三相离网机安装指导书-Isuna 10000-20000TO-2页-英文标准-彩印-A3（正反面）-对折封面朝上-A00
	包装材料-安装手册-Isuna 10000-20000TO安装指导页-英文标准-单页-A2(正反面)-彩印-铜版纸-对折-ROHS.vsdx
	页-1
	页-2



